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MATH F251: Calculus | Quiz 1: SAMPLE B Fall 2019

Directions: The quiz contains 20 problems. Place your answer in the blank provided. For graphing
questions, a set of axes are provided. All graphs must be labeled.

1. Simplify (8) '/, 3/
_ _9.>'/z- 3 .21’2
() - i

2. Write the slope intercept form (that is, the form: y = mx + b) of the equation of the line
containing the point (2, 3) parallel to the line 6x+2y = 7.
Y= -3x -\-9

Y=3F-x)  Y-3=-30-2) ]

m=-73 ﬂ:—?»(-!-q

3x%y —4x3 ) . .
>—— Write your answer without negative exponents. 2

3 3xy-4x
Y2

J

3. Simplify the expression

4. Use the graph of f(x) below to estimate f(3).
6 -

7]

Y X+

7 o

5. Simplify the rational expression:

=]

xiy
Y+l
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6. Solve the equation 3x> —2x — 1 = 0.

(3% + Y -1)=0 X="5 or X= |

)(-’—":/3) X=|

7. Given the piecewise defined function below, determine the value(s) of x such that f(x) = 3.

f(x)Z{)62 x=1 X:'ﬁ_

x+3 x>1°

1 x2 I) x’23 means x=-B
W X>1, X¥3=3 Mueans X=0; fols x 7/ re7u7u¢m.luf¢

8. Find the exact value of sin(27/3). /v—g/z

E R e

j

9. Find the equation for the top half of the circle with center (0,0) and radius 3 ‘ ’ q

'j?'+ 'z 9 ‘)

Y=+ \4-x>

10. For the function f(x) = x?, find the expression f(2) — f(2 + k). Simplify your answer if

possible. _gp - hz
£ - £ (24h)

= 25 (2+h)
= ‘-i«‘f—'—!h—-hz = —4h-h*
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11. Using the table of values for the function f(x), determine f~!(2).

x |1 [2][3[4[5[6]7 89710
f[[05[1 171924455167 108 5

12. Let g(x) =2x+ 1, find (g o g)(x). You do not need to simplify your answer.

3(3&% 3&)4) 2—@(’”)” @obbl\— Yy+3

=4y+3

13. Solve for x in the equation In(x? —5) = 4. . + 6‘""6:7,
2 4 —
X-5=¢€
2 -+ j
X = b+ Q.Ll X= —~ 548?
14. Determine the domain of f(x) = ?3[ Give your answer in interval notatlon
Avold |- Ix=0 (2o,) V1, 20)
ov lg. »v;g
ov l=x
15. Solve the eqpgtion 0 = tan.x.
' ’ X= ... =T, 0,7, 2, 37;
| ] o
l | X=THK, Kinkgey
|
16. Find the exact value of the expression log;((25) +1og;y(4). Z_

103,0 (2‘5;% = IOjMOOC%

A
{’]?jlo /0 =2;
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17. On the axes below, sketch the graph of y = —/x.
Yy

18. On the axes below, sketch the graph of y = 2sin(x) + 3 on the interval [—27,27].

z- b\
. - - - \.-/—
21--
a8 T T 97
19. On the axes below, sketch the graph of y = In(x — 1).
Y1
|
|
|
l
|
\ X
[ 2
|
|
Xz |
20. Solve the inequality x> —4 > 0. )
Wank  x%5 4] Cro,-4) U oo



